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Product-to-Sum

Formulas

Cos(R +B)= CosRCosB — SinASINB

Cos (A -B)=CosA CosB « Stn fk SnB

Cos (A +B) £ Cos(A~B)=d Coshh CosB®

Cash CosB:iv?_LCos((’c—B) N CoscAﬂs)]

Cos (A —B) — Cos(R+B) > o St A Sin B
Sunk SinB = | (s (A-B) -—(os(A.ﬂw;)]
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Qin (A +B) =StaACosB® « Cos A SinB

Stn (F\' —P)):S\‘AA Cos B — CosA SinB
Sen (R +B) £Sin(A-B) = QL SinAlos B

SinA Cos B = —\é L% \'A(P\-‘VB) '\'SM(A’%
\/\—/—\/\/\/\A/\/
Sivn A Sin® = —%X(Cos(/—\*%) — Cos (Px‘\'@]
- +
Cos A& Cos B :5{@5 CA-B) + Cos (A B}]

Sin A Cos B ;ié\'Siv\(A —\'B\) e S\'V\(P(‘B)}

Droduct — Yo — Som Sormulas

SN\()\ exact Vatve Sor  Cos45°Sin N
Cos 45°Sin (5 = LZX, in (Lt§°-\-(5°§ X Sin Qﬁo _\3.))}

= %&5\‘\'\ GO° 5 Sin 3(;)
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